&

A/HE - B
/R - AT

1741

RODS MINI RODS *EIE
4 = -
WREWEM (22=h7/96) INEEEHEN ¢ =i
i i B
—+EE /3545C - SUS303 - 5 EHLSUS304— — B AR — BIG ORDER
CADE #1322 7& : 33_Rods CADE |3 &8 : 33_Rods
ERBETSEO~ORERX - BUEEBTAIHE, ERBRTSHEO~ORERKX - BEERBTAIE,
order | E(@Type-@D) |—| OL | 2 order | B (@Type-@D) |—| OL |
B RGOCTS — 700 RS MRS1.2 - 600
RE(LMIS Type DAZ VL] SEETE] g RE(LMIE Type | DAE mHE OEE [SEELE
RG0S — 25 < 16 > MRS —
RGOB HEEHIS45C RBRE MRSB SKH51 60HRC~ FERE
RGOM h7 MRSM 0 SEMERR
% m:ﬁﬁ;m - MRss | —0005 FRERSUSA40C 56HRC~ -
RGOCG . FREHS450 - MRSG 1B EHASUS304 - - G
RGOFG Y SUS303 -
6.3 1.6
L 2—C
. / . - £EB
1.6
/Jr \ 7 ) ‘
|/ ° |
oL ®D_ 0,005 OL£005
(RoHs | can [Roks )
B oL ® B IEEE0.1mm
OType @D IEEBE1mm 1 WEEEE DType [2]3) oL
3
> - ——— ELRTAE 0.5~ 1.1 5.0~50.0
RGOC 5 D h7 g6 HBE WUF DNE
(e A5450) s N 0 0,002 0 30 02 s 1213 5.0760.0
—0.010 —0.008 31 120 +03 =
RGOB 7 121 400 +05 MRSB 14 5.0~70.0 Eﬁ{K—F,ﬂJ ﬂ B
(fﬁt&?ﬁémc ) 8 10~500 5 - ) 401 1000 +08 SKHS51 i -
AR ° 5 ' ' (R WOSRif | AM=tE
RGOM 10 z . oo0s .CL‘TJT:! e = MRSM 13 507750 25’ | https://www.misumi-ec.com/tw/
HERASA5C o
( xﬂ@&%) :; 9 —0.015 —0.014 D3 D16 0.5 (%gt‘nﬂ@gﬁ;) 16 ~17 5.0~80.0 FAX | 02-2570-3767
10 ] e P
RGOF 13 10~750 11 = = - MRSS Eﬁ&iﬁ:ﬁ E%';E,/f:\ z 02-2510’3165
(SUS303) ” 12 (A F4SUS440C) 1.8~1.9 5.0~90.0
RGOS 15 — , oo MRSG
(FEEHASUS304) 16 10~800 5 0018 0017 (FEEHASUS304) 20~29 5.0~100.0
17 16 Example
gEG%gﬁécs?sw 18 17 3.0~5.0 5.0~150.0 @x {ER g1
18
RGOFG 19 20~800 19 OHENEETREEE,
(SUS303) 20 20 0 —0.009 |
25 25 —0.021 —0,020
: : s
A
(®)PM1: 30 FEEIB4AHE.
O 1o B
i s - _ HER B H & 100~200
oz (B 5 5 e T T
(®PM1 1 3014 FERIA4AHE,
WOS ##: | &il={E wEEn | EUM [ HREE
sEEs | PEOM | BROH 1.’ | https://www.misumi-ec.com/tw/ - - 1{ gg 10071.200 27;: MRS
DE AE =
!! . 1~100 101~ FAX | 02'2570'3767 ®EEE —ﬂﬁ +10E| 2%%13
p = s eyl BRRPRAHERIHAE, BEP77
SHRE |k | FesE MR | 02-2510-3766 .
i=b | HX EHY 7 o =
»p77 l Alteration 2= (QType-@D) |-[OL]- (AC)
A emT MRS1.2 —60.0 — AC1.0
(W) (5]c =]
Alteration Code Spec.
RlimH#EANE T
TERTRE15 $#ASEN T
i ac | AR
B 0.5=AC=10
LAQ‘ 1o ®D—2(AC tan15)=0.2
= = BERg - BRETE = = EHNER—ERPHENEETHEREE |
Mlsu MI e-catalo 4 dd http://tw.misumi-ec.com/ B=E M I Su M I e'catalo ddd http://tw.misumi-ec.com/ aE=F
X X

3 ey
2aE

R -
e

1742



